Divide by Decimals Crossword
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ACROSS
I. 4-+0.25
2. 3+02
3. 7+0.5
5. 6+-04
6. 3+0.25
7. 8+0.5
8. 9+0.5
9. 4+0.2
11. 3+0.3
12. 7+0.5
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DOWN
1. 6+0.5
2. 21+1.5
3. 12+0.8
4. 9+0.75
5. 12+0.75
6. 9-+0.5
7.  18=+1.5
8. 1=+0.1
9. 2+0.1
10.  7+0.5



Answers

5\ 116 T1]5
2> 114l 1
1150 12
1161 1118
2 210 M
1100 14
ACROSS DOWN
1. 4-+0.25 1. 6+0.5
2. 3+0.2 2. 21 +1.5
3. 7+0.5 3. 12+0.8
5. 6+-04 4, 9-+-0.75
6. 3-+0.25 5. 12 +0.75
7. 8+0.5 6. 9-+-0.5
8. 9+0.5 7. 18 +1.5
9. 4-+-0.2 8. 1 +0.1
11. 3+0.3 0. 2-+0.1
12. 7+0.5 10. 7+0.5
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